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l8lJan.20l9Third Semester B.E. Degree Exam

Digital Elect
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2 a. Convert P = (W##Xy+Z) to canonicalF06fffirm. (03 Marks)

b. Simpliff k"B"ffiu, b, c, d) = Zm(2,3, ryff, 13, 15) + Id(8, 9, 10, 11) in SoP form and
(07 Marks)

a. Discuss the ryemFing principle o
b. Explain t$"$$ffiation of Switcf

waveforms fud ]p

SR latch with its truth Table. (06 Marks)
rcer built using SR latch with the help of circuit and

waveforms' &fl s (08 Marks)

c. Obtain the characteristic.$"&aJions of JK flip flop and SR flip flop. (06 Marks)
.r.t- 
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a. What is race aIoq$p ibndition? How it can be overcome? (02 Marks)

b. Explain the wo@of MS-JK flip flop with logic symbol and timing diagram. (10 Marks)

c. Explain the @<ihg of +ys edge triggered D flip flop with the functional table. (08 Marks)
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cBffi$ffiffiffi

Time: 3 hrs.

Note: Answer any FIVE full questions,

la.
b.

c.

Bsur6 r 6e!vu. ,q \v , rrrE- -Lvl

implify using Quine-McClusky-'swiinimization techniq-ue*.

v=(ui b, c, d):Im(l ,5,7,QN6, 15)+f,613, 10,*:4F4) tloMarks)
@tr ," ,&s rL

,S e",m"%*]uf^-r..I^ I &J*& .y lqfffirs$b

'w' 
^ &.S J(

,,:i 
* Moau*kW% n*4w3 a. Implement fi(a, b,c) =,ffi :, s) ;EGJ, cffit(0, 1, 6) usingffida, 3:8 decoder,

'+i* s-e="j * rs (06 il;;.=' ,r-E.*-* s (06Marks)
b. With a neat circuit diggrfrm explain ttr 

"q-ffl8ok 
ahead ad4mfumith relevant expressions.

u, ',1,, 
"-.TT 

(10 Marks)

c. Design a onefficpitrparator, *plm""q*ing suitable eateffi' (04 Marks)
d%, ?-**l 
Mru * #

$ ** '%/ OR -lw".{4 a. Using.@JFl, 8:l Mux, rea{gffi Boolean funcffiri-f(a, b, c, d) = Im(O, l, 5, 6,7,10,15)

. yll!& [ a ug select linesu*rue'- 
* 

.:." (00 ry*lb. WithTiriat circuit diaeemiphin the keypail interface using 74147, 10 line to BCD
-.! r a -'tffi "* ",enccider. q Tp ,+rywmfu. (t0Marks)

c.',;ii,,Dbsign a full subtrp$ofaffid implement d*i#logic gates. (06 Marks)
.. - ''i s : :-, a:"

Convert x =5'b+bc to canonical"S"gP form. l;;'"' (O2Marks)

Simplify G = f(w,x,y,z) =ffif3,8,10,12,13,14,15) in POS $rm and implement using NOR
gates. - :* W 

-dL. 
d (08 Marks)

S imp liff the fo llowing dffih$ Quine-Mc C lusky' s mhirihizat ion technique.
V = (a, b, c, d) = Im(&63;'4,5,6,9,11,12,13, t4): (10 Marks)
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Module-4 ffi
7 a. Explain the working of four Uit rippte co,rnter using +y" triggered T flip-flops with the

counting sequence table and timing diagram. *-Wl *' (10 Marks)

b. Explain-the srpO and SISO op.rition-of shift regffiwith relevant logic diagram and the

truih table. d,#*- (06 Marks)

c. Explain the operation of ring counter using loqffigram and truth table. (04 Marks)

*- o' :" \ffig;,* #'
8 a. Explain Universal Shift Register with t%,rqb of logic diagram an@de control table.

.& * . (lOMarks)

b. Realize a three-bit binary synchrqn&mry counter using lK fl*r-P.!lons' (10 Marks)
fll1* **" qS*

'*ffi*fo'q'l'* ;*g a. Construct a Mealy state diaffiffiat will detect inpu.j seryrence 10110, when input pattern ts

detected Z is asserted hSE Write the state diagram*,#m (10 Marks)

b. Design a synchronoUglo.fntrr using T flip ngffi'to count the sequence 0, 2, 3, 6, 5,Design a synchrono,.Wl.6-dhttt using T fhp ngffito count the sequence 0, 2, 3, 6, 5,

1,0,-2.,... Wit. the e'x&iion table and state diafiUft and logic diagram. (10 Marks)

l7E C34

(12 Marks)
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